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General Instructions to the Examinees 

1- ijh{kkFkhZ loZizFke vius iz'u&i= viuk ukekad vfuok;Zr% fy[ksaA 

Candidate must write first his/ her Roll no. on the question paper 

compulsorily. 

2- lHkh iz'u djus vfuok;Z gSaA 

All the question are compulsory. 

3- izR;sd iz'u dk mÙkj nh xbZ mÙkj&iqfLrdk esa gh fy[ksaA 

Write the answer to each question in the given answer-book  only. 

4- iz'u&i= ds fgUnh o vaxzsth :ikarj.k esa fdlh izdkj dh =qfV@varj@ fojks/kkHkkl gksus 

ij fgUnh Hkk"kk ds iz'u dks gh lgh ekusaA 

If there is any kind of error/difference/contradiction in the  hindi 

and english vevsions of the question paper, the question of hindi 

version should be treated valid. 

 

 
 
 
 
 
 
 
      [k.M & v 



Section - A 
 

1½  fuEufyf[kr cgqfodYih; iz'uksa ds mÙkj nhft,A 

 Give the answer of the following multiple choice questions. 

 i) ok;qe.My dk og Lrj ftlesa lokZf/kd tyok"i ikbZ tkrh gS&         ¼½½ 

  v½  ,DlksLQh;j   c½  VªksiksLQh;j  

  l½  ehtksLQh;j    n½  vk;uksLQh;j 

  The level of the atmosphere in which most water vapour is found- 

 A) Exosphere    B)  Troposphere 

C) Mesosphere    D)  Ionosphere 

 ii) fuEufyf[kr esa ls f}rh;d ok;q iznw"kd gS&                               ¼½½ 

  v½  lYQj MkbZ vkWDlkbM (So2)        c½  ukbVªkstu MkbZ vkWDlkbM (No2) 

  l½  ijvkWDlh ,slhVkby ukbVsªV (PAN)  n½ gkbMªkstu lYQkbM (H2s) 

  Which of the following is a secondary air pollutant ? 

 A) Sulphur Dioxide (So2)            B) Nitrogen Dixide (No2) 

C) Peroxiacetylnitrate (PAN)   D)  Hydrptgen Sulphide (H2s) 
 

 iii) fuEufyf[kr esa ls vuohdj.kh; lalk/ku gS&          ¼½½ 

  v½  lkSj ÅtkZ   c½  iou ÅtkZ 

  l½  thok'e bZ/ku   n½  ou 

  Which of the following is a  non- renewable resource ? 

 A) Solar energy   B) Wind energy 

C) Fossil Fuel    D)  Forest 
 

 iv) NAPCC dh 'kq:vkr gqbZ&                                      ¼½½

       v½  lu~ 2005   c½  lu~ 2009 

  l½  lu~ 2007   n½  lu~ 2008 

    

 



                  NAPCC Started ? 

 A) Year 2005   B) Year 2009 

C) Year 2007    D)  Year 2008 

 

 v) fuEufyf[kr esa ls ikS/kksa esa Ård{k; dk eq[; dkjd gS&                    ¼½½ 

  v½  lYQj MkbZ vkWDlkbM (SO2)  c½  dkcZu MkbZ vkWDlkbM (CO2) 

  l½  Dyksjks ¶yksjks dkcZu (CFC)    n½  ukbVªl vkWDlkbM(N2O) 

 Which of the following is the main factor of necrosis in plants ? 

 A) Sulphur Dioxide(SO2)    B) Carbon Dioxide (CO2) 

C) Chloro Floro Carban (CFC)  D)  Nitrous Oxide (N2O) 
 

 vi) vkstksu vo{k; dk eq[; dkjd gS&        ¼½½

  v½  CFC         c½  N2O 

  l½  CO2    n½  CH4 

  The main factor in ozone depletion is - 

 A) CFC    B) N2O 

C) CO2     D)  CH4 

 

 vii) ekWfVª;y lays[k fdlls lacaf/kr gS &            ¼½½ 

  v½  vkWDlhtu    c½  vkstksu 

  l½  tyok"i   n½  lkSj ÅtkZ 

 What is the Montreal protocol related to ? 

 A) Oxygen    B) Ozone 

C) Water Vapour  D)  Solar Energy 

       

   viii) i;kZoj.k laj{k.k vf/kfu;e ykxw gqvk &      ¼½½ 

  v½  lu~ 1986    c½  lu~ 1989  

  l½  lu~ 1991    n½  lu~ 2000 



  

          Environmental Protection Act came into force - 

 A) Year 1986     B) Year 1989 

C) Year 1991      D)  Year 2000 
 

        ix) vEyh; o"kkZ feJ.k gS&          ¼½½ 

  v½  csUthu+csUtksikbjhu   

  c½  lY¶;qfjd vEy+ukbfVªd vEy   

  l½  Dyksjks ¶yksjks dkcZu+ukbVªkstu MkbZ vkWDlkbM           

  n½  ehFksu+ lY¶;qfjd vEy 

  Acid rain is a mixture of - 

 A) Benzene + Benzopyrene  

 B) Sulphuric Acid+ Nitric acid 

C) Chlorofloro Carbon + Nitrogen Dioxide     

D)  Methone+Sulphuric Acid 
 

          x) fuEufyf[kr esa ls fdl thok.kq esa tfVy ;kSfxdksa ds fuEuhdj.k dh {kerk ikbZ tkrh 

    gS \                ¼½½ 

  v½  L;wMkseksukl I;wfVMk       c½  jsyLVksfu;k ;qVªksQk   

  l½  Dysofl,yk        n½  mi;qZä lHkh 

 Which of the following bacteria has the ability to degrade complex compounds ? 

 A) Pseudomonas Putida    B) Ralstonia Eutropha  

C) Klebsiella              D)  All of the above 

           xi) fuEufyf[kr esa ls fdl thok.kq dks ^lqij&cx^ dgk tkrk gS&    ¼½½ 

   v½  cslhyl Fkqjsufta,fll  c½  L;wMkseksukl I;wfVMk  

  l½  jkbtksfc;e ysX;wfeukslsje n½  tsUFkkseksukl  

 Which of the following bacteria is called 'Superbug' ? 

 A) Bacillus Thuringiensis       B) Pseudomonas Putida 

C) Rhizobium Leguminosarum  D) Xanthomonas 



 

         xii) oehZ dEiksLV izkIr gksrh gS&         ¼½½ 

  v½  eqxhZ      c½  dNqvk  

  l½  dsapqvk     n½  eos'kh 

 Vermicompost is obtained from ? 

 A) Hen      B) Tortoise 

C) Earthworm    D)    Cattle 

      

 xiii) mRiUu gksus okys L=ksr ds vk/kkj ij Bksl dpjs dks fdruh Jsf.k;ksa esa oxhZd`r djrs 

  gSa \           ¼½½ 

  v½  ik¡p     c½  pkj  

  l½  lkr          n½  rhu 

 How many categories solid waste is classified based on the source of generation ? 

 A) Five      B) Four 

C) Seven      D)  Three 

 xiv) fuEufyf[kr esa ls dkSulh ekuo tfur vkink gS \     ¼½½ 

        v½  HkwdEi     c½  lqukeh  

   l½ Tokykeq[kh             n½  ;q) 

 Which of the following is a man-made disaster ? 

A) Earthquake              B) Tsunami  

C) Volcano              D)  War 

xv) fuEufyf[kr esa ls fpidks vkanksyu ds tud gSa \     ¼½½ 

        v½ es/kk ikVd    c½  lqanjyky cgqxq.kk 

   l½ deyk izlkn             n½  dY;k.k flag 

 Who among the following is the father of "Chipko Movement" ? 

A) Medha Patkar             B) Sundarlal Bahuguna  

C) Kamla Prasad              D)  Kalyan Singh  

 



xvi) ^if'peh ?kkV^ ds ouksa dks cpkus ds fy, fuEufyf[kr vkanksyu pyk;k x;k    ¼½½ 

        v½  ,fIidks vkanksyu   c½   fpidks vkanksyu 

   l½ 'kkar ?kkVh vkanksyu        n½  if'peh ?kkV cpkvks vkanksyu  

 The following movement was launched to save the forest of western ghats . 

A) Appiko movement            B) Chipko Movement 

C) Silent Valley Movement  D)  Save Western Ghat Movement 

 

2)  fjDr LFkkuksa dh iwfrZ dhft,% 

 Fill in the blanks: 

 i)  vkstksu ijr lw;Z ls vkus okyh ------------------------ dks i`Foh ij igq¡pus ls jksdrh gSA   ¼½½ 

 The ozone layer prevents .......................... form the sun from reaching the Earth.  

 ii) Hkkjr esa igyk bdks&ekdZ xksnjst dEiuh dks  ----------------------- ds fy, feyk FkkA   ¼½½ 

  The first Eco-Mark in India was given to godrej company for.......................... . 

 iii) oU;tho ¼laj{k.k½ vf/kfu;e -------------------------- dks ykxw gqvkA     ¼½½ 

    The Wild life protection Act ................. came into force . 

 iv) Bksl dpjs ds vok;oh; vi?kVu ds nkSjku -------------------- xSlsa curh gSaA    ¼½½ 

    ................. gases are formed during decomposition of solid waste. 

 v) Hkwi"̀B ds dEiUu dks ------------------ dgrs gSA       ¼½½ 

 The vibration of earth's crust is called ............ 

 vi)  -------------------- ,d NksVh] xksykd`fr] Loizfrd`ru ;ksX; DNA  dh nksgjh yM+h okyh 

     lajpuk gSA           ¼½½ 

 ................ is a small, circular, self replicable, double stranded structure of a DNA. 

 vii) oU;tho laj{k.k ds fy, jkT; ljdkj fdlh {ks= dks ----------------- ?kksf"kr dj ldrh  

    gSA             ¼½½ 

   For wild life conservation, the state govern ment can declare any area as a       

     .............. Parts. 



  viii) xq:Ro cy ds dkj.k 'kSy lkexzh dk <ky ds lgkjs fxjuk ----------------- dgykrk gSA ¼½½ 

   Falling of rock material due to the force of gravity is called  .............. . 

   ix) ty esa ukbVªsV dh vf/kd ek=k ls uotkr f'k'kq esa ----------------- uked jksx gks tkrk      

  gSA             ¼½½   

      Excessive amount of nitrate in water causes a disease called  .............. in newborn         

 babies . 

  x)  ----------------- tSls {ks= dsoy ouLifr mxkus ds fy, gh iz;qä gksrs gSaA               ¼½½ 

 Areas like  .............. are used only for growing vegetation . 

 

3½  fuEufyf[kr iz'uksa ds mÙkj ,d 'kCn ;k ,d iafDr esa fyf[k,A ¼vfry?kqÙkjkRed iz'u½ 

 Answer the following question in one word or in one a line. (Very short answer 

 type questions) 

 i) tSo ladsrd D;k gS \         ¼1½ 

 What is bioindicators ? 

 ii) iou ÅtkZ ls vki D;k le>rs gSa \       ¼1½ 

 What do you understand by wind energy ? 

 iii) 'kkar {ks=@ ifj{ks= fdls dgk x;k gS \      ¼1½ 

 What is silence zone ? 

 iv) tSo mipkjhdj.k D;k gS \        ¼1½ 

 What is bioremediation ? 

 v) jktLFkku esa o"kkZ ty ,d=.k dh ikjEifjd fof/k;ksa ds uke fyf[k,A  ¼1½ 

 Write the name of the traditional methods of rain water harvesting in rajasthan. 

 vi) fo'o dk igyk xzhu cSad dgk¡ LFkkfir fd;k x;k Fkk \    ¼1½ 

 Where was the world's first green bank established ? 

 vii) i;kZoj.k iznw"kd dks ifjHkkf"kr dhft,A       ¼1½ 

 Define environment pollutants ? 

 viii) tSojklk;fud vkWDlhtu ek¡x D;k gS \      ¼1½ 

 What is biochemical oxygen demand ? 



      [k.M & c 

Section - B 
 

  y?kqÙkjkRed iz'u % ¼mÙkj 'kCn lhek yxHkx 30 'kCn½  

 Short answer type questions: (Answer word limit approx: 30 words) 
 

4½  d`f"k vif'k"V fdl izdkj ls ty dks iznwf"kr djrs gSa \       ¼1@½½

 How do agricultural wastes pollute water ? 

5½  fofdj.kksa ds euq"; ij iM+us okys dksbZ rhu izHkko fyf[k,A                 ¼1@½½

 Write any three effects of radiation on humans. 

6½  izkd`frd lalk/kuksa dh fofHkUu Jsf.k;ksa ds ckjs esa laf{kIr esa fyf[k,A       ¼1@½½

 Write briefly about different cate gories of natural resources . 

7½  3R- ladYiuk D;k gS \            ¼1@½½

 What is 3R- concept ? 

8½  ty laj{k.k vf/kfu;e dh dksbZ rhu fo'ks"krk,sa fyf[k,A          ¼1@½½

 Write any three features of water conservation Act? 

9½  thuks ck;ksfVDl D;k gS \                ¼1@½½

  What is xenobiotics ? 

10½  tSo vko/kZu ls vki D;k le>rs gS \           ¼1@½½

 What do you understand by bio- magnification? 

11½  Hkwfe lq/kkj dh LØsfiax fof/k ds ckjs esa fyf[k,A          ¼1@½½ 

 Write about the scraping method of land improvement . 

12½  D;ksVks izksVksdkWy dh fo'ks"krk fyf[k,A           ¼1@½½ 

 Write the characteristics of kyoto protocol . 

13½  vkuqoaf'kd :ikarfjr thoksa ds ykHk fyf[k,A          ¼1@½½ 

      Write the benefits of geneticaly modified organisms . 

14½  lw[ks ds nq"izHkkoksa dks dSls de fd;k tk ldrk gS \         ¼1@½½

 How can the ill effects of drought be reduced ? 

15½  catj Hkwfe ds dkj.k crkb,A               ¼1@½½

 Explain the reasons for barren land . 



              [k.M & l  

Section - C 
 

  nh?kZ mÙkjh; iz'u % ¼mÙkj 'kCn lhek yxHkx 60 'kCn½  

 Long answer type questions: (Answer word limit approx: 60 words) 

16½  lkSj ÅtkZ D;k gS\ blds mRiknu dh fØ;kfof/k dks js[kkfp= }kjk le>kb,A      ¼3½ 

 What is solar energy ? Explain the mechanism of its production with a linear 

  diagram . 

 

      vFkok  

      ok;q 'kfä rduhd ij fVIi.kh fyf[k,A  

   Write a note on wind power technology . 

17½  fVIi.kh fyf[k,  \           ¼3½ 

       ¼d½ lqukeh      ¼c½ nkokuy 

 Write a comment :- 

(A)  Tsunami      (B) Wildfire  

      vFkok  

       HkwL[kyu dk izca/ku dSls fd;k tk ldrk gS \ 

       How can landslide be mangaged ? 

18½  oU; tho vf/kfu;e dh fo'ks"krk,sa fyf[k,A                        ¼3½ 

  Write the features of wild life Act . 

                vFkok  

    i;kZoj.kh; dkuwuksa dks ykxw djus esa dkSu&dkSulh ck/kk;sa vkrh gSa \ 

       What are the obstacles of enforcing environmental laws ? 

  



[k.M & n 
Section - D 

 

     fuca/kkRed iz'u ¼mÙkj 'kCn lhek 120 'kCn½ 
     Essay type question ( Word limit 120 words) 

 

19½  rkih; iznw"k.k D;k gSa \ bldk lthoksa ij D;k izHkko iM+rk gS \ blds fu;a=.k gsrq dksbZ 

 nks mik; fyf[k,A                                              ¼4½ 

 What is thermal pollution? What effect does it have on living beings ? Write any 

 two measures to control it . 

                                                                     vFkok 

      gfjr x`g izHkko D;k gS\ oSf'od Å"ek;u dk i;kZoj.k ij D;k izHkko gks jgk gS \  

  What is green house effect \ What are the effects of global warming on   

    environment ? 

 

20½   oehZdYpj ls vki D;k le>rs gS \ oehZdEiksfLVax rduhd le>kb,A            ¼4½ 

 What do you understand by vermiculture ? Explain vermicomposting technique . 

                                                                    vFkok 

      Hkkjr esa ijEijkxr :i ls iz;qDr gksus okyh vif'k"V ty& mipkj.k dh fof/k;k¡   

 fyf[k,A  

 Write the methods of traditional waste water treatment used in India . 

 

 

 


